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1. Which of the following about Rudradaman is/are correct ?

i. He is known for Junagadh inscription.

ii. He undertook the restoration of a reservoir called Sudarshana lake.

iii. He defeated the Satkarni ruler Gautamiputra.

iv. He married his daughter to Gautamiputra’s son, Vashishthiputra Pulumavi.

A) Only (ii)    B) Only (ii and iii) 

C) Only (i, ii and iv)   d) All the above (i, ii, iii and iv)

2. Which of the following is/are not correctly matched ? 

i. Vikramankdevacarita  – Bilhan

ii. mattavilasa  –  mahendravikramavarman

iii. Svapnavasavadatta   – Bāna

iv. Devichandragupta   – Visākhadatta

A) Only (ii)   B) Only (iii) 

C) Only (i and iv)   d) All the above

3. Which of the following ancient text refers to Chandragupta maurya as being of low 
social origin ?

A) mahavamsa   B) milindapanha 

C) mudrarakshasa   d) Parishishtaparvan

4. Which of the following is not correct about ancient literature ?

A) Sutras and Sāstras are together known as Smriti. 

B) Manav Dharma Sāstra is also known as lawbook of Manu. 

C) Mitāksharā is a commentary on the lawbook of Yājnavalkya. 

d) dharma Sutras deal with domestic religious ceremonies.

5. Which of the following is/are not correct about the Mughal Jagirdāri System ?

i. All Mansabdārs were Jagirdārs.

ii. Mansabdār was assigned a Jāgir that was officially estimated to yield an 
equivalent amount of revenue.

iii. A small portion of Jāgir were also given to the Baluch and Ghakkar chiefs.

iv. After few years of revenue collection rights a Jāgirdar was given hereditary rights  
in his assignment.

A) Only (ii) B) Only (iii) C) Only (iii and iv) d) Only (iv)
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1. qONhLhoRj¨Or]ÞÿOç Cj]ÕrpOÐvp]¤ JfLeV wq] ? 

i. ^OjLYcV s]X]f IÐV ASÇzU Ar]pRÕaOÐO. 

ii. yOh¡wj faLWU IÐ ^syUnqe]pORa kOjqOÈLqeU ASÇzU JRãaO¾O.  

iii. wfW¡e] nqeLi]WLq] YTfo]kONfRj ASÇzU kqL^pRÕaO¾].  

iv. YTfo] kONfR£ oWjLp vy]xVb]kONf kOsOov]̈ V ASÇzU fR£ oWRt v]vLzU RÞpÅO 
RWLaO¾O. 

A)  (ii) oLNfU    B) (ii DU iii) oLNfU 

C)  (i DU ii DU iv DU) oLNfU  d) oOWt]¤ krîvRpsæLU (i, ii, iii, iv)

2. Cj]ÕrpOÐvp]¤ JfLeV wq]pLp] RkLqO¾RÕaL¾fV ?  

i. v]NWoLUWVShvÞq]f – m]¤z¢ 

ii. oŸv]sLy  –  oSzNÎv]NWov¡o¢ 

iii. y~kÔvLyvh¾   – mLj 

iv. Shv]ÞNÎYOkÅ   – v]wLXh¾ 

A) (ii) oLNfU  B) (iii) oLNfU 

C) (i DU iv) oLNfU  d) oOWt]¤ krîvRpsæLU

3. fLRu krpOÐvp]¤ JfV kOqLfj NYÏ¾]sLeV ÞNÎYOkÅ oTq|Rj fLuVÐ yLoPz]W 
DÂvoOçfLp] kqLo¡w]¨OÐfV ?

A) ozLvUwU    B) o]s]Îk¢z 

C) oONhqLƒyU   d) kq]x]xVbk¡vÿ¢ 

4. kOqLfj yLz]f|R¾¨Or]ÞÿV Cj]ÕrpOÐvp]¤ JfLeV wq]psæL¾fV ? 

A) yPNf°tOU wLNñ°tOU KqOo]ÞÿV yÜQf] IÐr]pRÕaOÐO.   

B) oLjv i¡Ú wLNñU ojOv]R£ j]poNYÏU IÐOU Ar]pRÕaOÐO. 

C) pL³v¤W|R£ j]pokOñW¾]R£ v|LX|LjoLeV o]fLƒqU.   

d) i¡ÚyPNf°t]¤ YL¡z]W ofkqoLp Þa°OWRt¨Or]ÞÿLeV Nkf]kLh]¨OÐfV.

5. oOY¥ ^LY]¡hLq] yLNÒhLpR¾¨Or]ÞÿV Cj]ÕrpOÐvp]¤ JfLeV/JRfsæLoLeV 
wq]psæL¾fV ?  

i. IsæL o¢ymÉL¡oLqOU ^LY]¡hL¡oLqLp]qOÐO. 

ii. KTSh|LY]WoLp] fOs|oLp vqOoLjU sn]¨ORoÐV We¨L¨]p KqO ^LY]r]Rj 
o¢ymÉL¡ j]po]ÞÿO.  

iii. ^LY]r]R£ KqO RÞr]p nLYU msPÞÿV, Y¨¡ SoiLv]W¥¨OU j¤W].

iv. JfLjOU v¡xR¾ rvj|P k]q]vV AvWLw°¥ V̈ SwxU KqO ^LY]¡hL¡ V̈ fR£   
j]poj¾]¤ kLqÒq| AvWLw°¥ sn]ÞÿO. 

A) (ii) oLNfU B) (iii) oLNfU C) (iii DU iv) oLNfU  d) (iv) oLNfU 
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6.  Which of the following is/are not correctly matched ? 

i. Bal Gangadhar Tilak : Tenets of the New Party

ii. lala Harkishan lal :  Tribune

iii. Lala Lajpat Rai : Bharat Mata

iv. Sirajuddin Ahmad : Anjuman-i-Mohibban-i-Watan

A) Only (i) B) Only (iii) C) Only (iii and iv) d) Only (iv)

7. Consider the following events of the Indian National movement :

I. RIN mutiny II. Cabinet mission

III. Cripps mission IV. Shimla Conference

 What is the correct chronological order of these events ?

A) IV, III, II, I B) IV, III, I, II C) III, IV, I, II d) III, IV, II, I

8. Consider the following statements :
  statement I : Rajkumar Shukla invited Mahatma Gandhi to lead the Champaran 

Satyagraha in Bihar in 1917.

  statement II : The farmers of Champaran were forced to grow indigo under the 
Tinkathia System.

 Which of the following is correct in respect of the above statements ?

A) Both Statement I and Statement II are correct and Statement II explains  
Statement I 

B) Both Statement I and Statement II are correct but Statement II does not explain 
Statement I

C) Statement I is correct but Statement II is incorrect

d) Statement I is incorrect but Statement II is correct

9. Consider the following :

1. Sido 2. Velu Thampi 3. Chinnava

4. Vijayarama 5. Birsa 6. Rampa

 Who among the above were the tribal leaders ?

A) 3 and 5   B) 1 and 5 

C) 1, 5 and 6   d)  1, 4, 5 and 6
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6.  Cj]ÕrpOÐvp]¤ JfLeV/JRfsæLoLeV wq]pLp] RkLqO¾RÕaL¾fV ? 

i. mLsYUYLiq f]sWV :  RaRjãVyV KLlV h j|P kL¡Ÿ] 

ii. sLsL z¡W]x¢ sL¤ :  Na]m|P¦ 

iii. sLsL s^VkfVrLpV   : nLqfV oLfL 

iv. y]rL^OÇ}¢ AzÚhV  :  AÆOoL¢-C-RoLz]mÿL¢-C-vf¢ 

A) (i) oLNfU  B) (iii) oLNfU C) (iii DU iv) oLNfU d) (iv) oLNfU

7. CÍ|¢ Shw}p NkòLj¾]Rs Cj]ÕrpOÐ yUnv°¥ kq]Ye]¨OW.

I. RIN szt  II. WLm]jãV o]x¢ 

III. NW]kõV o]x¢  IV. x]Us ySÚtjU 

  CT yUnv°tORa wq]pLp WLsNWoU IÍLeV ?

A) IV, III, II, I B) IV, III, I, II C) III, IV, I, II d) III, IV, II, I

8. fLRu krpOÐ NkñLvjW¥ kq]Ye]¨OW.  
  NkñLvj I : 1917&¤ m}zLr]¤ jaÐ ÞÒLq¢ yf|LNYz¾]jV SjfQf~U j¤WL¢ 

qL^VWOoL¡ wOWæ ozLÄLYLÌ]Rp ƒe]ÞÿO.
  NkñLvj II : ÞÒLqj]Rs W¡xW¡ a]¢W¾]p yNÒhLp¾]jV W}u]¤ C¢c]SYL 

vt¡¾L¢ j]¡mÌ]fqLp]. 

  oOWt]¤ krî NkñLvjWtOoLp] mÌRÕŸV Cj]ÕrpOÐvp]¤ JfLeV wq] ?

A) NkñLvj I DU NkñLvj II DU wq]pLeV, NkñLvj II NkñLvj I Rj v]wh}Wq]¨OÐO

B) NkñLvj I DU NkñLvj II DU wq]pLeV, kSƒ NkñLvj II NkñLvj I Rj v]wh}  
Wq]¨OÐ]sæ

C) NkñLvj I wq]pLeV, kSƒ NkñLvj II RfãLeV

d) NkñLvj I RfãLeV, kSƒ NkñLvj II wq]pLeV 

9. fLRu krpOÐ WLq|°¥ kq]Ye]¨OW. 

1. y]ScL  2. SvsOfÒ]  3. Þ]Ðv 

4. v]^pqLo  5. m]¡y  6. rLUk 

  So¤Õrîvq]¤ BqLp]qOÐO/BRqLR¨pLp]qOÐO SYLNf SjfL¨¥ ?

A) 3 DU 5 DU   B) 1 DU 5 DU 

C) 1 DU 5 DU 6 DU  d)  1 DU 4 DU 5 DU 6 DU
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10. Which of the following is/are not correct about the Second Five year Plan ?

i. Bombay Plan for economic development was proposed.

ii. It was based on mahalanobis model.

iii. Hydroelectric Power Projects were established.

iv. Rourkela, Bhilai and durgapur Steel Plants were established.

v. Gadgil Yojna of economic self-sufficiency was started. 

A) Only (i and iv)   B) Only (i) 

C) Only (v)   d)  Only (i, ii and v)

11. Which event directly led to the formation of the State of Kerala on November 1, 1956 ?

A) The Indian Independence Act of 1947 

B) The States Reorganisation Act of 1956

C) The Government of India Act of 1935 

d) The Royal Titles Act of 1858 

12. The “Education Bill” introduced by the first EMS Ministry in Kerala caused significant 
controversy. What was its primary focus ? 

A) Free technical education 

B) Introduction of English as a medium of instruction 

C) Adult literacy programs   

d) Government control over private aided schools

13. Which social reformer founded the “Sadhu Jana Paripalana Sangham” ?

A) Sree Narayana Guru   B) Ayyankali 

C) Chattampi Swamikal   d) Brahmananda Sivayogi

14. The “Temple Entry Proclamation” of 1936 was issued by which Maharaja of 
Travancore ?

A) Chithira Thirunal Balarama Varma B) Swathi Thirunal 

C) marthanda Varma   d) Rama Varma IX

15. Which Treaty between the English East India Company and Travancore in 1795, 
heavily impacted the economic autonomy of Travancore ?

A) Treaty of mangalore   B) Treaty of Srirangapatna

C) Treaty of mavelikkara   d) Treaty of Cochin
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10. qºLU kµvÃq kÈf]Rp¨Or]ÞÿV Cj]ÕrpOÐvp]¤ JfLeV wq]psæL¾fV ?

i. yLÒ¾]W v]Wyj¾]jLpOç SmLURm kÈf] j]¡SÇw]¨RÕŸO.

ii. CfV ozsSjLm]yV oLfQWRp Aa]òLjoL¨]pOçfLp]qOÐO. 

iii. ^sRRvh|Of kÈf]W¥ òLk]ÞÿO. 

iv. rP¡S¨s, n]sLpV, hO¡YLkP¡ ð}¤ kæL£OW¥ òLk]ÞÿO.

v. yLÒ¾]W y~pUkq|LkÅfàLpOç YLcVY]¤ SpL^j BqUn]ÞÿO.    

A) (i DU iv) oLNfU   B) (i) oLNfU 

C) (v) oLNfU  d)  (i DU ii DU v) oLNfU 

11. 1956 jvUm¡ 1 jV SWqt yUòLj qPk}Wqe¾]jV Sjq]ŸV WLqeoLp yUnvU JfLeV ?

A) 1947-Rs CÍ|¢ y~LfNÍ| BW›V 

B) 1956-Rs yUòLj kOj@yUZaj BW›V 

C) 1935-Rs Yv¦Ro£V KLlV CÍ| BW›V  

d) 1858-Rs SrLp¤ RRaã]¤yV BW›V 

12. SWqt¾]¤ Bh| C. IU. IyV. oNÍ]yn Avfq]Õ]Þÿ ""v]h|Ln|Ly m]¤'' WLq|oLp
  v]vLh°¥¨V WLqeoLp]. Af]R£ NkLgo]W sƒ|U IÍLp]qOÐO ?   

A) yT^j| yLSËf]W v]h|Ln|LyU  

B) CUYæ}xV KqO kbj oLi|ooLp] Avfq]Õ]¨OÐfV 

C) oOf]¡ÐvqORa yLƒqfL kq]kLa]W¥    

d) y~WLq| IpVccV ØPtOWtORa So¤ y¡¨L¡ j]pNÍeU 

13. ""yLiO ^j kq]kLsj yUZU'' òLk]Þÿ yLoPz]W kq]xVW¡¾LvV BqV ?

A) è}jLqLpe YOqO    B) AáËLt]  

C) ÞŸÒ] y~Lo]W¥    d) NmùLjÎ w]vSpLY] 

14. 1936&Rs ""SƒNfNkSvwj v]tUmqU'' kOrRÕaOv]ÞÿfV JfV f]qOv]fLUWPr]Rs 
ozLqL^LvLeV ?

A) Þ]¾]q f]qOjL¥ mLsqLo v¡Ú  B) y~Lf] f]qOjL¥  

C) oL¡¾L¼ v¡Ú    d) qLov¡Ú IX

15. 1795&¤ CUYæ}xV CTðV CÍ|L WÒj]pOU f]qOv]fLUWPrOU fÚ]¤ KÕOvÞÿ JfV DaÒa]
pLeV f]qOv]fLUWPr]R£ yLÒ¾]W y~pUnqeR¾ yLqoLp] mLi]ÞÿfV ?

A) oUYsLkOqU DaÒa]   B) è}qUYkŸeU DaÒa] 

C) oLSvs]¨q DaÒa]  d) RWLÞÿ] DaÒa] 
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16. What was the primary goal of the “Nivarthana Agitation” ?

A) land reforms   

B) Representation in the legislative Assembly

C) Temple entry   

d) Educational reforms

17. Who presided over the Aluva Religious Conference of 1924, a significant event that 
promoted interfaith dialogue and social reform in Kerala ?

A) Sree Narayana Guru   B) Chattampi Swamikal 

C) Swami Sathyavrathan  d) Swami Bodhananda

18. Which specific clause within the Madras Estates Land Act of 1908, despite its overall 
intent, inadvertently exacerbated the pre-existing vulnerabilities of certain tenant 
groups in the malabar region ?

A) Clause relating to the standardization of land revenue

B) Clause concerning the definition of “private land” and its implications for 
customary tenures 

C) Clause regarding the introduction of new irrigation systems 

d) Clause pertaining to the regulation of timber extraction

19. Which specific Trade Agreement, prior to the arrival of the East India Company, 
significantly altered the balance of maritime power in the Arabian sea, thereby 
indirectly contributing to the later vulnerability of malabar’s Coastal Trade ?

A) The Treaty of Jeddah (1559)

B) The Venetian-Cochin Spice Treaty (1487)

C) The Portuguese-Calicut Trade Accord (1513) 

d) The Ottoman-Travancore maritime Pact (1625)

20. Which specific event or meeting facilitated T.K. Madhavan’s ability to bring the issue 
of untouchability in Kerala to mahatma Gandhi’s direct attention ?

A) The Round Table Conferences in london

B) The inauguration of the Travancore legislative Assembly

C) The founding of the All India Harijan Sevak Sangh

d) The Kakinada session of the Indian National Congress in 1923

21. Pentagonal International System of 1970s included  

A) USA, USSR, UK, Japan, China 

B) USA, USSR, UK, Germany, East Asia

C) USA, USSR, China, Japan and Western Europe   

d) USA, USSR, Germany, China, Japan
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16. ""j]v¡¾j NkSƒLn''¾]R£ NkLgo]W sƒ|U IÍLp]qOÐO ?

A) nPkq]ëqeU    

B) j]poj]¡ÚLe ynp]Rs NkLf]j]i|U  

C) SƒNf NkSvwjU    

d) v]h|Ln|Ly kq]ëLq°¥ 

17. SWqt¾]¤ ofLÍq yUvLhvOU yLoPz]W kq]ëqevOU SNkLÃLz]Õ]Þÿ KqO yONkiLj 
yUnvoLp 1924&Rs BsOv ofySÚtj¾]¤ Ai|ƒf vz]ÞÿfV BqLeV ?

A) è}jLqLpe YOqO   B) ÞŸÒ] y~Lo]W¥ 

C) y~Lo] yf|Nvf¢   d) y~Lo] SmLiLjÎ 

18. 1908&Rs oNhLyV ISðãVyV sL¢cV BW›]Rs JfV NkSf|W vWOÕLeV, Af]R£ RoL¾¾]
sOç DSÇw|U DºLp]qOÐ]ŸOU, osmL¡ SoXsp]Rs Þ]s WOa]pL¢ NYPÕOWtORa j]sv]
sOç hO¡msfWRt AmÈvwL¤ vxtL¨]pfV ?

A) nPvqOoLj¾]R£ oLjh¼}WqevOoLp] mÌRÕŸ vWOÕV

B) ""y~WLq| nPo]'' pORa j]¡vÿÞjR¾pOU kf]vV WOa]W]aÕOW¥¨V Af]R£   
Nkf|LZLf°RtpOU WOr]ÞÿOç vWOÕV   

C) kOf]p ^sSyÞj yUv]iLj°¥ J¡RÕaO¾OÐf]Rj¨Or]ÞÿOç vWOÕV  

d) oqU Sv¡f]q]RÞÿaO¨¤ j]pNÍevOoLp] mÌRÕŸ vWOÕV 

19. CTðV CÍ|L WÒj]pORa vqv]jO oOÒOç JfV NkSf|W v|LkLqWqLrLeV Arm]¨a
s]Rs  yoONhw©]pORa yÍOs]fLvòRp Ye|oLp] oLã], AfOvu] osmLr]R£

 f}qShw v|LkLq¾]jV k]¤¨Ls hO¡msfàV kSqLƒoLp] yUnLvj j¤W]pfV ? 

A) ^]Ç DaÒa] (1559)

B) Rvj}x|¢&RWLÞÿ] yOYÌv|Æj DaÒa] (1487)

C) SkL¡ÞÿOY}yV&WLs]¨ãV v|LkLq WqL¡  (1513) 

d) KLSŸLo¢&f]qOv]fLUWP¡ yoONh DaÒa] (1625)

20.  SWqt¾]Rs RfLŸOWPaLpÜpORa v]xpU ozLÄLYLÌ]pORa Sjq]ŸOç èÈp]¤ 
RÕaO¾L¢ a]. RW. oLivjV Wu]îfV JfV NkSf|W kq]kLa]p]sPRaSpL SpLY¾]
sPRaSpL BeV ? 

A) sºj]¤ jaÐ vŸSow ySÚtj°¥ 

B) f]qOv]fLUWP¡ j]poynpORa DhVZLajU 

C) AX]SsÍ|L zq]^¢ SyvWV yUZ¾]R£ òLkjU 

d) 1923&¤ CÍ|¢ jLxe¤ SWL¦NYy]R£ WL¨]jLc ySÚtjU  

21. 1970&Wt]Rs Rk£Ye¤ C£¡jLxe¤ y]ð¾]¤ D¥RÕŸ]qOÐO   
A) pOIyVI, pOIyVIyVB¡, pORW, ^ÕL¢, RRÞj  
B) pOIyVI, pOIyVIyVB¡, pORW, ^¡Új], W]u¨¢ Jx| 
C) pOIyVI, pOIyVIyVB¡, RRÞj, ^ÕL¢, ka]îLr¢ pPSrLÕV   
d) pOIyVI, pOIyVIyVB¡, ^¡Új], RRÞj, ^ÕL¢
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22.  Which of the following treaties did not redraw the map of Europe ?

A) Treaty of Vienna   B) Treaty of Versailles 

C) Treaty of Westphalia   d) Treaty of locarno

23. match the following. 
i. Guided democracy a. USA
ii. Progressive movement b. Bukharin
iii. decolonization c. Sukarno
iv. Huk Rebellion d. Philippines

A) i-d, ii-b, iii-d, iv-c   B) i-c, ii-a, iii-b, iv-d 

C) i-a, ii-b, iii-c, iv-d   d) i-c, ii-a, iii-d, iv-b

24. Organization of African Unity intended to

A) Eradicate colonialism from African continent

B) Resolve border disputes among African States 

C) Promote economic and social cooperation among the African people 

d) All of the above

25. Who analysed the role of print media in imagining nationhood ?

A) Perry Anderson   B) Benedict Anderson 

C) Victor Kiernann   d) Walter Bagehot

26. yom Kippur War was fought to

A) Recover lost territories from Israel 

B) Open access to Suez Canal

C) Occupy the territories of lebanon 

d) destroy the PlO

27. Find which statement is not true.

A) Cuban missile Crisis ended with the establishment of a direct communication 
line between the USA and the USSR to avoid future confrontation

B) Siam was a French colony in the late 19th century

C) Balkan nationalism generated in the context of the decline of the Austro Hungarian 
and the Ottoman Empire   

D) Meiji Restoration marked the beginning of industrialization and westernization 
in Japan
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22.  fLRuÕrpOÐvp]¤ JfLeV pPSrLÕ]R£ nPkaU kOj¡j]¡Ú]¨L¾fV ?

A) v]pÐ DaÒa]    B) Rv¡RRy¤yV DaÒa]  

C) RvðVlLs]p DaÒa]   d) SsL¨L¡SeL DaÒa] 

23. SÞqOUka] SÞ¡¨OW. 
i. RRYccV RcSoLNWy]  a. pOIyVI
ii. kOSqLYoj NkòLjU   b. mOXLq]¢ 
iii. AkSWLtj}WqeU  c. yOWL¡SeL 
iv. z¨V WsLkU  d. l]s]Õ}¢yV 

A) i-d, ii-b, iii-d, iv-c   B) i-c, ii-a, iii-b, iv-d 

C) i-a, ii-b, iii-c, iv-d   d) i-c, ii-a, iii-d, iv-b

24. BNl]¨¢ RIW| yUZajpORa DSÇw|U

A) BNl]¨¢ nPX¼¾]¤ j]ÐV RWLStLe]ps]yR¾ fOaÞÿO j}¨OW 

B) BNl]¨¢ qL^|°¥¨]ap]sOç Af]¡¾] f¡¨°¥ kq]zq]¨OW  

C) BNl]¨¢ ^jfà]ap]¤ yLÒ¾]WvOU yLoPz]WvOoLp yzWqeU SNkLÃLz]
Õ]¨OW

d) oOWt]¤ krîvRpsæLU 

25. Shw}pf yË¤Õ]¨OÐf]¤ AÞÿa] oLi|o°tORa kËV BqLeV v]wWsjU RÞpÅfV ?

A) Rkr] B¢ScuVy¦   B) Rmjc]W›V B¢ScuVy¦ 

C) v]W›¡ W}¡e¢   d) vL¥Ÿ¡ mLRYSzLŸV 

26. SpLU W]ÕP¡ pOÈU ja¾]pfV  

A) CNyLSps]¤ j]ÐV jìRÕŸ NkShw°¥ f]q]ÞÿOk]a]¨LjLeV  

B) yPpyV WjLs]Ss¨Oç fOrÐ NkSvwjU 

C) Rsmj¢ NkShw°¥ RRWvwRÕaO¾OW  

d) PlO jw]Õ]¨OW

27. JfV NkñLvjpLeV wq]psæL¾RfÐV WRº¾OW.

A) nLv]p]Rs JãOoOŸ¤ Ku]vL¨L¢ USA pOU USSR DU fÚ]¤ Sjq]ŸOç Bwp 
v]j]op RRs¢ òLk]ÞÿSfLRa W|Pm¢ o]RRy¤ Nkf]yÌ] AvyLj]ÞÿO    

B) 19&LU jPãLº]R£ AvyLj¾]¤ y]pLU KqO NlµV SWLtj]pLp]qOÐO

C) KLyVSNaL&zUSYr]p¢, KLRŸLo¢ yLNoL^|°tORa fW¡ÞÿpORa kéL¾s¾]¤ 
DaRsaO¾ mL¤¨¢ Shw}pf    

d) ^ÕLj]¤ v|vyLpv¤¨qe¾]R£pOU kLéLf|v¤¨qe¾]R£pOU fOa¨U 
WOr]ÞÿfV RopV^] kOj@òLkjoLeV 
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28. Whose name is associated with the study of capitalism ?

A) Edward Gibbon   B) maurice dobb 

C) R. G. Collingwood    d) Johan Huizinga

29. Choose the correct chronological order for the following matters.

i. monroe doctrine ii. Concert of Europe

iii. Zollverein iv. young Italy

A) i, ii, iii, iv B) ii, iii, i, iv  C) ii, i, iv, iii d) iii, i, iv, ii

30.  match the following.

i. Alexander Gerschenkron a. Core, periphery, semi-periphery states

ii. Immanuel Wallerstein b. Analysis of economic backwardness

iii. Eric Hobsbawm c. History-at-a-distance

iv. Fernand Braudel d. Real socialism 

A) i-b, ii-a, iii-d, iv-c   B) i-c, ii-a, iii-d, iv-b 

C) i-d, ii-a, iii-b, iv-c   d) i-a, ii-b, iii-c, iv-d

31. Find out the correct arrangement of the following journals in the order of their editors 
given below.

i. P. S. Varier ii. moorkoth Sreenivasan 

iii. Kumaranasaan iv. makthi Thangal 

A) i – Vivekodayam, ii – Dhanvanthari, iii –  Vajrasoochi, iv –  Paropakari

B) i – Paropakari, ii – Vajrasoochi, iii – Dhanvanthari, iv – Vivekodayam

C) i – Dhanvanthari, ii – Vajrasoochi, iii – Vivekodayam, iv –  Paropakari

D) i – Vajrasoochi, ii – Paropakari, iii – Dhanvanthari, iv – Vivekodayam

32. Give the name of the musical instrument which is used in Soapanasangeetham.

A) Thudi B) Chenda C) Veena d) Idayka

33. Koimpidaran (Koyimpada Nair) is the character of which ritualistic art form ?

A) Ninabali B) mudiyattu C) Chimmanakkali d) Pateni

34. Which one of the following is not an ayurvedic text ?

A) mukundamaala   B) mathangaleela

C) Aalathur manipravaalam d) yogamritham
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28. oOfsLt]¾R¾¨Or]ÞÿOç kbjvOoLp] mÌRÕŸ SkqV BqORafLeV  ?

A) ISc~¡cV Y]mÿ¦    B) oTr}yV ScLmV  

C) B¡. ^]. SWLt]°VvOcV   d) S^LzL¢ zOp]y]UY 

29. fLRu krpOÐ WLq|°¥¨V wq]pLp WLsNWoU f]qRîaO¨OW.

i. o¦SrL y]ÈLÍU  ii. pPSrLÕ]R£ yUY}f¨SÞÿq] 

iii. SyL¥Rvr]¢  iv. pUYV Cãs] 

A) i, ii, iii, iv B) ii, iii, i, iv  C) ii, i, iv, iii d) iii, i, iv, ii

30.  SÞqOUka] SÞ¡¨OW.

i. AsWõLº¡ RY¡Rx¢SNWL¦  a. WLÒV, NkLÍNkShwU, A¡È NkLÍNkShw  
 AvòW¥  

ii. CÚLjOv¤ vLs¡ð}¢  b. yLÒ¾]W k]SÐL¨LvòpORa v]wWsjU

iii. Ir]WV SzLmõVSmLU  c. z]ðr]&AãV&I&c]ð¢yV 

iv. Rl¡eLºV NmLc¤  d. pgL¡À SyLx|s]yU  

A) i-b, ii-a, iii-d, iv-c   B) i-c, ii-a, iii-d, iv-b 

C) i-d, ii-a, iii-b, iv-c   d) i-a, ii-b, iii-c, iv-d

31. fLRu RWLaO¾]q]¨OÐ Ic]ã¡oLqORa NWo¾]¤ Cj]ÕrpOÐ S^esOWtORa wq]pLp 
NWo}WqeU WRº¾OW.

i. k]. IyV. vLq]p¡  ii. oP¡S¨L¾V è}j]vLy¢ 

iii. WOoLqjLwL¢   iv. o©] f°¥

A) i – v]SvSWLhpU, ii – ij~Íq], iii –  vN^yPÞ], iv – kSqLkWLq]

B) i – kSqLkWLq], ii – vN^yPÞ], iii – ij~Íq], iv – v]SvSWLhpU

C) i – ij~Íq], ii – vN^yPÞ], iii – v]SvSWLhpU, iv – kSqLkWLq]

d) i – vN^yPÞ], ii – kSqLkWLq], iii – ij~Íq], iv – v]SvSWLhpU   

32. SyLÕLjyUY}f¾]¤ DkSpLY]¨OÐ yUY}f DkWqe¾]R£ SkqV j¤WOW.

A) fOa]  B) RÞº  C) v}e  d) Caà 

33. SWLp]Ò]aq¢ (SWLp]Ò]a jLp¡) JfV BÞLqkqoLp WsLqPk¾]R£ WgLkLNfoLeV ?

A) j]jLms]  B) oOa]pLŸV  C) Þ]Új¨t]  d) kSaj] 

34. Cj]ÕrpOÐvp]¤ JfLeV BpO¡Svh NYÏosæL¾fV ?

A) oOWOÎoLs    B) oLfUYs}s 

C) Bs¾P¡ oe]NkvLtU  d) SpLYLoQfU 
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35. The heroic character, Chengannuraathi belongs to which narrative tradition of  
Kerala ?

A) Vadakkan Pattu   B) Thekkan Pattu 

C) Idanaadan Pattu   d) Thottam Pattu 

36. Find out the correct chronological order of the following novels.

A) Oru vazhiyum kure nizhalukalum, Agnisakshi, Alahayude Penmakkal, Aaraachaar

B) Aaraachaar, Alahayude Penmakkal, Oru vazhiyum kure nizhalukalum, Agnisakshi

C) Alahayude Penmakkal, Aaraachaar, Agnisakshi, Oru vazhiyum kure nizhalukalum

d) Agnisakshi, Oru vazhiyum kure nizhalukalum, Alahayude Penmakkal, Aaraachaar 

37. The four languages of the dakshin dravida branch are 

i. Tamil, Kannada, Gondi, malayalam 

ii. Tamil, Kannada, Tulu, malayalam

iii. Tamil, Kannada, Toda, malayalam 

iv. Tamil, Kannada, malto, malayalam

A) ii is correct   B) i and iv are correct 

C) i and ii are correct   d) ii and iii are correct

38. Who discovered the Edakkal caves and its Rock art in Wayanad ? 

A) Robert Bruce Foote   B) Babington 

C) Fawcett   d) William logan

39. Which place is known for Bharateshwara Temple in Kerala ?

A) Atingal B) Irinjalakuda C) Thirunelli D) Payyanur

40. Which one of the following is the musical and dance performance of the Adiya 
community in connection with agrarian practices/jobs ?

A) Kambala dance   B) Gaddika

C) Eruthunritham   d) mankoothu Vilayattam

41. Which among the following province secured highest representation in the Constituent 
Assembly of India as on 31st december 1947 ?

A) madras B) Bihar C) West Bengal d) Bombay

42. Which among the following item is included in concurrent list of Indian Constitution ?

A) United Nations Organization B) Fisheries

C) Foreign loans   d) Economic and Social Planning
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35. RÞ°ÐPqL¾] IÐ v}q WgLkLNfU SWqt¾]Rs JfV BX|Lj kLqÒq|¾]¤  
RkŸfLeV ?

A) va¨¢ kLŸV   B) Rf¨¢ kLŸV  

C) CajLa¢ kLŸV   d) SfLŸU kLŸV  

36. Cj]ÕrpOÐ SjLvsOWtORa wq]pLp WLsNWoU WRº¾OW.

A) KqO vu]pOU WOSr j]usOWtOU, A®]yLƒ], AszpORa Rk¦o¨¥, BqLÞÿL¡ 

B) BqLÞÿL¡, AszpORa Rk¦o¨¥, KqO vu]pOU WOSr j]usOWtOU, A®]yLƒ]

C) AszpORa Rk¦o¨¥, BqLÞÿL¡, A®]yLƒ], KqO vu]pOU WOSr j]usOWtOU

d) A®]yLƒ], KqO vu]pOU WOSr j]usOWtOU, AszpORa Rk¦o¨¥, BqLÞÿL¡ 

37. hƒ]e NhLv]c wLXpORa jLsV nLxW¥ CvpLeV 
i. fo]uV, WÐc, SYLº], ospLtU 
ii. fo]uV, WÐc, fOtO, ospLtU
iii. fo]uV, WÐc, SfLc, ospLtU 
iv. fo]uV, WÐc, oL¥SŸL, ospLtU

A) ii wq]pLeV   B) i DU iv DU wq]pLeV 

C) i DU ii DU wq]pLeV    d) ii DU iii DU wq]pLeV

38. vpjLŸ]Rs Ia¨¤ YOzWtOU Af]R£ w]sLWsWtOU BqLeV WRº¾]pfV ?  

A) SrLm¡ŸV NmPyV lPŸV   B) mLm]UYVa¦  

C) SlLRyãV    d) v]s|U SsLY¢ 

39. SWqt¾]Rs nqSfw~q SƒNfU JfLeV ?

A) Bã]°¤  B) Cq]°Ls¨Oa  C) f]qORjsæ]  d) káÐP¡ 

40. WL¡x]W q}f]WtOoLp]/S^Ls]WtOoLp] mÌRÕŸV Aa]p yoPz¾]R£ yUY}f, jQ¾ 
NkWajU fLRu krpOÐvp]¤ JfLeV ? 

A) WÒt jQ¾U    B) YÇ]W

C) IqO¾OÐQ¾U   d) o¦WP¾V v]tpLŸU 

41. 1947 c]yUm¡ 31 Rs We¨jOyq]ÞÿV CÍ|¢ nqeZajL AyUmæ]p]¤ JãvOU  
WPaOf¤ NkLf]j]i|U Sja]p Nkv]w| JfLeV ?

A) oNhLyV  B) m}zL¡ C) ké]o mUYL¥  d) SmLURm 

42. fLRu krpOÐvp]¤ JfLeV CÍ|¢ nqeZajpORa W¦Wr£V s]ð]¤ D¥RÕaO¾]p]
q]¨OÐfV ?

A) RIW|qLNìyn   B) oÃ|mÌjU 

C) v]Shw vLp×W¥   d) yLÒ¾]W, yLoPz]W ByPNfeU 
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43. Identify the wrong statement with regard to the Power of President of India.

A) Power to appoint ministers

B) Power to Pardon cases of Court martial 

C) Absolute power to appoint Inferior Officers 

d) Power to Summon Parliament

44.  Who among the following has right of audience in all courts of India ?

A) Advocate General   B) Attorney General of India

C) minister for law in India d) Speaker of lok Sabha

45.  Identify the right statement/s from the list given below.

1. With the proclamation of Art. 358 Article 19 will be automatically suspended.

2. With the proclamation of Art. 359 Article 19 will be automatically suspended.

3. The constitutionality of a declaration of emergency can be questioned in court.

4. Art. 360 has been used three times since independence.

A) 1 and 2 B) 1 and 3 C) 1, 2 and 3 d) 3 and 4

46. As per the Indian Constitution which is the mandatory population limit to constitute 
intermediate levels of Panchayat Raj Institutions ?

A) Above 10 lakhs  B) Above 15 lakhs 

C) Above 20 lakhs   d) Above 25 lakhs

47. Who is appointed as the leader of the House in Rajya Sabha ?
A) The leader of opposition party

B) Prime Minister or a Minister, who is a member of Rajya Sabha nominated by 
the Prime minister 

C) A senior member nominated by the Chairman of the House 

D) A member of the House elected by majority of the House

48. The Inter-State Council is appointed by 
A) The President of India   B) The Parliament of India 

C) Supreme Court of India d) Prime minister of India

49. To strengthen e-Governance in Panchayati Raj Institutions (PRIs) the Ministry of 
Panchayati Raj (MoPR) launched _______________ a user-friendly web-based 
portal. 
A) e-GrameenSwaraj   B) e-Panchayat Portal 

C) e-Seva Portal  d) e-GramSwaraj
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43. CÍ|¢ Nky]c£]R£ Ai]WLqvOoLp] mÌRÕŸ RfãLp NkñLvj f]q]Þÿr]pOW.

A) oNÍ]oLRq j]po]¨LjOç Ai]WLqU 

B) SWL¡ŸV oL¡x¤ SWyOW¥ oLÕV j¤WLjOç Ai]WLqU  

C) fLRupOç DSh|LYòRq j]po]¨LjOç yÒP¡¹ Ai]WLqU  

d) kL¡sRo£V v]t]ÞÿOWPŸLjOç Ai]WLqU 

44. fLRuÕrpOÐvq]¤ B¡¨LeV CÍ|p]Rs IsæL SWLaf]Wt]sOU SW¥¨LjOç  
AvWLwU DçfV ?

A) Ac~S¨ãV ^jr¤    B) CÍ|pORa ASãL¡e] ^jr¤ 

C) CÍ|p]Rs j]pooNÍ]   d) SsLWVynL y×}¨¡ 

45. fLRu RWLaO¾]q]¨OÐ kŸ]Wp]¤ j]ÐV wq]pLp NkñLvj/NkñLvjW¥ f]q]Þÿr]pOW.
1. B¡Ÿ]̈ ]¥ 358 NkX|LkjS¾LRa B¡Ÿ]̈ ]¥ 19 y~pSov fL¤¨Ls]WoLp] j]¡¾]

vàRÕaOU.
2. B¡Ÿ]¨]¥ 359 NkX|LkjS¾LRa B¡Ÿ]¨]¥ 19 y~pSov fL¤¨Ls]WoLp] j]¡¾]

vàRÕaOU.
3. Aa]pÍqLvò NkX|Lkj¾]R£ nqeZajL yLiOf SWLaf]p]¤ SÞLh|U 

RÞáRÕaLU. 
4. B¡Ÿ]¨]¥ 360 y~LfNÍ|¾]jOSwxU oPÐV fve DkSpLY]Þÿ]ŸOºV. 

A) 1, 2 B) 1, 3 C) 1, 2, 3 d) 3, 4

46. CÍ|¢ nqeZaj NkWLqU kµLp¾V qL^V òLkj°tORa C£¡o}c]pãV RsvsOW¥ 
qPk}Wq]¨OÐf]jV j]¡mÌ]f ^jyUX|L kq]i] IÍLeV ?

A) 10 sƒ¾]jV oOWt]¤   B)  15 sƒ¾]jV oOWt]¤ 

C) 20 sƒ¾]jV oOWt]¤   d)  25 sƒ¾]jV oOWt]¤

47. qL^|ynp]Rs ynLSjfLvV BqLeV ?
A) Nkf]kƒ kL¡Ÿ] SjfLvV 
B) NkiLjoNÍ] jLoj]¡SÇwU RÞáOÐ qL^|ynLUYoLp NkiLjoNÍ]SpL/oNÍ]SpL  
C) ynL Ai|ƒ¢ jLoj]¡SÇwU RÞáOÐ oOf]¡Ð AUYU  
d) ynp]Rs nPq]kƒ SvLŸ]sPRa f]qRîaO¨RÕaOÐ ynLUYU 

48. C£¡&SðãV WT¦y]s]Rj j]po]¨OÐfV 
A) CÍ|¢ Nky]c£V    B) CÍ|¢ kL¡sRo£V  
C) CÍ|¢ yONk}U SWLaf]  d) CÍ|¢ NkiLjoNÍ] 

49. kµLp¾]qL^V òLkj°t]¤ (PRI) C&YSve¢yV w©]RÕaO¾OÐf]jLp] 
kµLp¾]qL V̂ oNÍLspU (MoPR) _______________ KqO DkSpL©Q&yTz|h RvmV 
Ai]xVb]f SkL¡Ÿ¤ BqUn]ÞÿO.  
A) C&NYLo}¦ y~qL^V   B) C&kµLp¾V SkL¡Ÿ¤  

C) C&Syv SkL¡Ÿ¤   d) C&NYLoy~qL^V 
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50. As per Section 7 (1) of the RTI Act, 2005, the information sought concerns the life 
or liberty of a person, it shall be supplied within 

A) 15 days B) 30 days C) 36 hours d) 48 hours

51. Consider the given four statements and choose the correct answer from the 
given options. (Under mahatma Gandhi National Rural Employment Guarantee 
Scheme)
1. Gives the Gram Sabha the right to Social Audit of all works and expenditures.

2. The Barefoot Technician (BFT) Project was launched in 2010-2011.

3. Project ‘UNNATI’, a skilling project intends to upgrade the skill base of the  
MGNREGA beneficiaries.

4. Cluster Facilitation Project was launched in 2014 with the objective to  
provide SC/ST people the livelihood under mGNREGA.

A) Only 1 and 2 B) Only 2 and 3 C) Only 1 and 3 d) Only 3 and 4

52. match list – I with list – II and choose the correct answer from the given options.

List – I  List – II

 (E-governance Initiatives of (Initiated/Launched in the Year)

 Central Government)

a. E-Biz 1. 2013

b. MeghRaj 2. 2022

c. diksha 3. 2017

d. meri Pehchaan 4. 2014

A) a-1, b-2, c-3, d-4   B) a-1, b-4, c-3, d-2 

C) a-2, b-3, c-4, d-1   d) a-4, b-2, c-3, d-1

53. Which one of the following conventions that India has ratified/party to ?

A) UN Convention on Status of Refugee (1951)

B) IlO Convention on Violence and Harassment Convention (2019) 

C) UN Convention on law of Sea (1982) 

d) IlO Convention on Night Work Convention (1990)

54. Arrange the following in chronological order.
(Summits/meeting hosted by India 2021-2024) 

1. BImSTEC Business Summit 2. BRICS Summit

3. First India-Central Asia Summit 4. SCO Summit

A) 2, 3, 4, 1 B) 1, 4, 3, 2 C) 3, 2, 4, 1 d) 4, 3, 2, 1
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50. 2005 Rs RTI BW›]Rs Ryƒ¢ 7 (1) NkWLqU, Bvw|RÕaOÐ v]vq°¥ KqO v|©]
pORa ̂ }vRjSpL y~LfNÍ|R¾SpL yUmÌ]¨OÐfLeV, AfV ___________ jOç]¤ 
j¤WeU.

A) 15 h]vyU  B) 30 h]vyU C) 36 oe]¨P¡  d) 48 oe]¨P¡

51. j¤W]p]q]¨OÐ jLsV NkñLvjW¥ kq]Ye]ÞÿV RWLaO¾]q]¨OÐ KLkVxjOWt]¤ 
 j]ÐV wq]pLp D¾qU f]qRîaO¨OW. (ozLÄLYLÌ] Shw}p NYLo}e RfLu]¤ Y|Lqº] 

kÈf] NkWLqU)
1. IsæL NkvQ¾]WtORapOU RÞsvOWtORapOU SyLx|¤ KLc]ã]jV NYLoynàV 

 AvWLwU j¤WOÐO.
2. Rmp¡lPŸV RaWVj}x|¢ (BFT) kÈf] 2010-2011¤ BqUn]ÞÿO.
3. mGNREGA YOeSnL©L¨tORa RRjkOe| Aa]¾r Dp¡¾L¢ DSÇw]¨OÐ KqO 

RRjkOe| kÈf]pLp "UNNATI' kÈf].
4. mGNREGA NkWLqU kŸ]W^Lf]/kŸ]Wv¡«¨L¡¨V Dk^}vjoL¡«U j¤WOW IÐ 

sƒ|S¾LRa 2014 ¤ Wæð¡ Rly]s]Sãx¢ kÈf] BqUn]ÞÿO.

A) 1 DU 2 DU oLNfU B) 2 DU 3 DU oLNfU C) 1 DU 3 DU oLNfU d) 3 DU 4 DU oLNfU

52. s]ðV – I, s]ðV – II IÐ]vpOoLp] SpL^]Õ]ÞÿV j¤W]p]q]¨OÐ KLkVxjOWt]¤ 
j]ÐV wq]pLp D¾qU f]qRîaO¨OW.

List – I  List – II

 (SWNÎy¡¨Lq]R£ C&YSve¢yV (BqUn]ÞÿfV/BqUn]Þÿ v¡xU)
  yUqUn°¥)

a. C-m]yV 1. 2013
b. SoZVqL^V 2. 2022
c. h}ƒ 3. 2017
d. Soq] RkzVÞL¢ 4. 2014
A) a-1, b-2, c-3, d-4   B) a-1, b-4, c-3, d-2 
C) a-2, b-3, c-4, d-1   d) a-4, b-2, c-3, d-1

53. fLRu krpOÐvp]¤ JfV W¦Rv¢xj]sLeV CÍ| KÕOvÞÿ]q]¨OÐfV/Wƒ] SÞ¡Ð]
q]¨OÐfV ?
A) AnpL¡À] khv] yUmÌ]Þÿ UN W¦Rv¢x¢ (1951)
B) ANWovOU k}cjvOU yUmÌ]Þÿ IlO W¦Rv¢x¢ (2019) 
C) Wa¤ j]poR¾¨Or]ÞÿOç UN W¦Rv¢x¢ (1982) 
d) qLNf] S^Ls] yUmÌ]Þÿ IlO W¦Rv¢x¢ (1990)

54. fLRu krpOÐv WLsNWo¾]¤ NWo}Wq]¨OW.  
(CÍ| 2021-2024 Bf]Sgpf~U vz]¨OÐ DÞÿSWLa]W¥/SpLYU) 

1. m]URðWV m]y]jyV DÞÿSWLa] 2. Nm]WõV DÞÿSWLa]

3. Bh| CÍ|&oSi|x| DÞÿSWLa] 4. IyVy]K DÞÿSWLa]

A) 2, 3, 4, 1 B) 1, 4, 3, 2 C) 3, 2, 4, 1 d) 4, 3, 2, 1
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55. Consider the given four statements and choose the correct answer from the given 
options.
Which are the divisions in ministry of External Affairs, Government of India ?
1. G-7 2. Indo-Pacific 3. South Asia 4. Eurasia 

A) Only 1 and 2 B) Only 2 and 4 C) Only 1 and 3 d) Only 3 and 4

56.  match list – I with list – II and choose the correct answer from the given options.

    List – I List – II

          (Arms Control Group/Convention) (India)  

a. UN Convention against Corruption 1. Joined in 2018

b. Missile Technology Control Regime (MTCR) 2. Ratified in 2011

c. Conventions on Rights of Persons with disabilities 3. Joined in 2016

d. Australia Group (AG) 4. Ratified in 2007 

A) a-2, b-3, c-4, d-1   B) a-1, b-2, c-3, d-4

C) a-3, b-1, c-2, d-4   d) a-2, b-4, c-3, d-1

57. Consider the following tribunals :

1. land Tribunal

2. Administrative Tribunal

3. Industrial Tribunal
Which one of the following is correct with respect to the above ?

A) All these tribunals take its origin from Art. 323A of the Constitution 

B) All these tribunals are created under a single legislation

C) Administrative tribunals are specialized tribunals but all specialized tribunals are 
not administrative tribunals   

d) Both A) and B)

58. Which one of the following is true ? 

A) Election Commission is a constitutional body with quasi judicial power

B) NITI Aayog is a statutory regulatory body

C) National Women’s Commission is a statutory body

d) Both A) and C)

59. Which of the following is gender neutral legislation ? 

A) Protection of Children from Sexual Offences Act, 2012

B) Protection of Women from domestic Violence Act, 2005

C) Sexual Harassment of Women at Workplace (Prevention, Prohibition and 
Redressal) Act, 2013

d) None of the above
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55. j¤W]p]q]¨OÐ jLsV NkñLvjW¥ kq]Ye]ÞÿV j¤W]p]q]¨OÐ KLkVxjOWt]¤ 
 j]ÐV wq]pLp D¾qU f]qRîaO¨OW.

  CÍ|LYv¦Ro£]R£ v]ShwWLq| oNÍLsp¾]Rs c]v]xjOW¥ JRfLR¨pLeV ?
1. ^]-7 2. CSÍL&kyl]WV 3. hƒ]Sex| 4. pOSrx| 
A) 1 DU 2 DU oLNfU B) 2 DU 4 DU oLNfU C) 1 DU 3 DU oLNfU d) 3 DU 4 DU oLNfU

56.  s]ðV – I Rj s]ðV – II oLp] SpL^]Õ]ÞÿV j¤W]p]q]¨OÐ KLkVxjOWt]¤ j]ÐV wq]pLp 
D¾qU f]qRîaO¨OW.

  s]ðV – I    s]ðV  – II
 (BpOi j]pNÍe NYPÕV/W¦Rv¢x¢) (CÍ|)

a. Au]of]R¨f]qLp UN W¦Rv¢x¢ 1. 2018 ¤ SÞ¡ÐO
b. o]RRy¤ RaWVSjLt^] W¦SNaL¥ Rr^]U (mTCR) 2. 2011 ¤ AUY}Wq]ÞÿO
c. v]WsLUYqORa AvWLw°Rt¨Or]ÞÿOç W¦Rv¢xjOW¥ 3. 2016 ¤ SÞ¡ÐO
d. KLSNy›s]p NYPÕV (AG) 4. 2007 ¤ AUY}Wq]ÞÿO 

A) a-2, b-3, c-4, d-1   B) a-1, b-2, c-3, d-4

C) a-3, b-1, c-2, d-4   d) a-2, b-4, c-3, d-1

57. fLRu krpOÐ RRNam|PesOW¥ kq]Ye]¨OW.
1. sL¢cV RRNam|Pe¤
2. AcVo]j]SNy›ã}vV RRNam|Pe¤
3. C¢cNy›]p¤ RRNam|Pe¤

  oOWt]¤ krîvpOoLp] mÌRÕŸV Cj]ÕrpOÐvp]¤ JfLeV wq] ?

A) IsæL RRNam|PesOWtOU nqeZaj Art. 323A ¤ j]ÐLeV qPkU RWLºfV  

B) CT RRNam|PesOWRtsæLU KRqLã j]poj]¡ÚLe¾]jV W}u]sLeV yQì]Þÿ]q]¨OÐfV

C) AcVo]j]SNy›ã}vV RRNam|PesOW¥ NkSf|W RRNam|PesOWtLeV, IÐL¤ IsæL NkSf|W 
RRNam|PesOWtOU AcVo]j]SNy›ã}vV RRNam|PesOWtsæ   

d) A) pOU B) pOU

58. fLRu krpOÐvp]¤ JfLeV wq] ?

A) f]qRîaOÕV WÚ}x¢ A¡È ^Oc}x|¤ Ai]WLqoOç KqO nqeZajL òLkjoLeV

B) j}f] BSpLYV KqO j]poLjOyQf j]pNÍe òLkjoLeV

C) Shw}p vj]fL WÚ}x¢ KqO j]poLjOyQf òLkjoLeV

d) A) pOU C) pOU
59. fLRu krpOÐvp]¤ JfLeV s]UYSnho]sæL¾ j]poU ? 

A) RRsUY]W WOãWQf|°t]¤ j]ÐOç WOŸ]WtORa yUqƒe j]poU, 2012

B) YL¡z]W k}cj°t]¤ j]ÐOç Nñ}WtORa yUqƒe j]poU, 2005

C) RfLu]s]a¾]¤ Nñ}W¥R¨f]qLp RRsUY]W k}cjU (fap¤, j]SqLijU, kq]zLqU) 

  j]poU, 2013

d) oOWt]¤ krî]q]¨OÐvp]¤ KÐOosæ
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60. Consider the following :
1. Pre vaginum test or two finger test
2. Sexual harassment
3. Women as property of husband

Which of the following Statement is true with respect to the above factors ? 

A) This test conducted in rape and sexual assault cases is declared as unconstitutional 
by the Supreme Court

B) Sexual harassment is an offence under Bharatiya Nyaya Sanhitha 2023 and it 
deals only with workplace harassment 

C) Indian criminal law does not recognize women as the property of husband 

d) Both A) and C)

61.  Which of the following legislations is meant for SC/ST ?

A) Scheduled Caste and Scheduled Tribes (Prevention of Atrocities) Act, 1989

B) Forest Rights Act, 2006

C) Protection of Civil Rights Act, 1955

d) All the above 

62. Which of the following statements is/are true with respect to Constitutional Amendments ? 

A) Constitutional Amendments are made by virtue of constituent power

B) Constitutional Amendments are made by virtue of power under Art. 368 of the 
Constitution

C) Constitutional Amendments are not law under Art. 13 of the Constitution 

d) All the above

63. Consider the statements :
1. Judicial review power could be exercised only by Supreme Court and High Courts.
2. Judicial review has its basis in Art. 32 and Art. 226 of the Constitution.
3. Judicial activism is a form of judicial review.

Analyse the above statements and find out which of the following correlations is false 
with respect to public interest litigation. 

A) Public interest litigation is the product of judicial activism

B) Public interest litigations are filed before HCs and Supreme Court 

C) Public interest litigation could be filed by any person irrespective of his interest in it

d) Only A) and C)
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60. fLRu krpOÐ WLq|°¥ kq]Ye]¨OW.
1. Nk} vRR^jU RaðV ARsæË]¤ aO l]UY¡ RaðV

2. RRsUY]W k}cjU

3. Nñ}W¥ n¡¾Lv]R£ y~¾Lp]

  oOWt]¤ krî ZaW°tOoLp] mÌRÕŸV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

A) msLÃUY, RRsUY]WLf]NWo SWyOWt]¤ ja¾OÐ CT kq]SwLij yONk}U SWLaf] 
nqeZajL v]qOÈoLReÐV NkX|Lk]ÞÿO

B) nLqf}pj|LpyUz]f 2023 NkWLqU RRsUY]W k}djU KqO WOãWQf|oLeV, WPaLRf CfV 
S^Ls]òsR¾ k}cjU oLNfSo RRWWLq|U RÞáOÐOçP

C) CÍ|¢ NW]o]j¤ j]poU Nñ}WRt n¡¾Lv]R£ y~¾Lp] AUY}Wq]¨OÐ]sæ 

d) A) DU C) DU

61. fLRu krpOÐ j]poj]¡ÚLe°t]¤ JfLeV kŸ]W^Lf]/kŸ]Wv¡« v]nLY°¥¨V  
Svº]pOçfV ?

A) kŸ]W^Lf]&kŸ]Wv¡« (Af]NWo°¥ fap¤) j]poU,1989

B) vjLvWLw j]poU, 2006

C) kTqLvWLw yUqƒe j]poU,1955

d) oOWt]¤ krî]q]¨OÐvRpsæLU 

62. nqeZajL SnhYf]WRt yUmÌ]Þÿ NkñLvjWt]¤ JfLeV wq] ? 

A) nqeZajL SnhYf]W¥ nqeZajLkqoLp Ai]WLq¾]R£ Aa]òLj¾]sLeV  
vqO¾OÐfV.

B) nqeZajpORa B¡Ÿ]¨]¥ 368 NkWLqU nqeZajL SnhYf]W¥ Ai]WLq¾]R£ 
 Aa] òLj¾]sLeV vqO¾OÐfV.

C) nqeZajpORa B¡Ÿ]¨]¥13 NkWLqU nqeZajL SnhYf]W¥ j]poosæ  

d) oOWt]¤ krî]q]¨OÐvRpsæLU

63. NkñLvjW¥ kq]Ye]¨OW.
1. yONk}U SWLaf]¨OU RRzS¨Laf]W¥¨OU oLNfSo ^Oc}x|¤ r]v|P Ai]WLqU 

NkSpLY]¨L¢ Wu]pP.
2. nqeZajpORa B¡Ÿ]¨]¥ 32, B¡Ÿ]¨]¥ 226 IÐ]vp]¤ ^Oc}x|¤ r]v|P  

Aa]òLjRÕŸ]q]¨OÐO.
3. ^Oc}x|¤ BW›]v]yU KqO ^Oc}x|¤ r]v|P BeV.

  oOWt]¤ krî NkñLvjW¥ v]wWsjU RÞpÅV RkLfOfL¤Õq| v|vzLqvOoLp] 
mÌRÕŸV Cj]ÕrpOÐ kqy×q mÌ°t]¤ JfLeV RfRãÐV WRº¾OW. 

A) RkLfOfL¤Õq| v|vzLqU ^Oc}x|¤ BW›]v]y¾]R£ lsoLeV

B) RkLfOfL¤Õq| v|vzLq°¥ RRzS¨Laf]Wt]sOU yONk}U SWLaf]p]sOU lp¤  
RÞáRÕaOÐO 

C) JRfLqO v|©]¨OU Af]¤ fL¤Õq|U kq]Ye]¨LRf RkLfOfL¤Õq| v|vzLqU  
lp¤ RÞáL¢ Wu]pOU

d) A) DU C) DU oLNfU
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64. Which of the following statements is false with respect to emergency under the 
Constitution ? 
A) Emergency may be declared on account of failure of Constitutional machinery 

in a State.
B) during emergency, there is suspension of right to Constitutional Remedies with 

respect to enforcement of all fundamental rights.
C) Art. 360 of the Constitution talks about financial emergency.  
d) None of the above

65. Consider the following statements with regard to the fundamental rights :
i. The doctrine of waiver is inapplicable to fundamental rights as like in the  

USA Constitution.
ii. The Part-Ill of the Constitution contains the self executory and non-executory 

fundamental rights.
iii. The Supreme Court opined in menaka Gandhi case that the provisions in Part-Ill 

are not mutually exclusive and forms part of integrated whole.
iv. The nature of fundamental rights is absolute.
v. The President of India is authorized to suspend the fundamental rights during 

the period of emergency except Articles 20 and 21.
 In the above statements, which are correct ?

A) Only (i, iii and iv)   B) Only (i, ii and v) 

C) Only (ii, iii and v)   d) Only (ii, iv and v) 

66. assertion (a) : The Part-Ill and IV of the Constitution are considered as the 
conscience of the Constitution.

  reason (r) : The principles contained in the Part-IV are moral precepts and it can 
be enforceable by Art. 37 of the Constitution. 
Select the correct answer code.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
d) None of the above

67. assertion (a) : Though the people of this country differed in a number of ways, 
they all were proud to regard themselves as participants in a common heritage and 
composite culture.
reason (r) : The foundation of composite culture of India is the Sanskrit language 
and culture which is the great biding force in India.
Select the correct answer code.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
d) None of the above
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64. nqeZajL NkWLqU Aa]pÍqLvòpOoLp] mÌRÕŸV fLRu krpOÐ NkñLvjWt]¤ 
JfLeV RfãV ? 
A) KqO yUòLj¾V nqeZajL yUv]iLj¾]R£ kqL^pU WLqeU Aa]pÍqLvò 

NkX|Lk]¨OÐfLeV.

B) Aa]pÍqLvò yop¾V IsæL oTs]WLvWLw°tOU jaÕ]sL¨OÐf]jOç 
nqeZajL kq]zLq°¥¨Oç AvWLwU fL¤¨Ls]WoLp] j]¡¾]vàOÐO.

C) nqeZajpORa B¡Ÿ]¨]¥ 360 yLÒ¾]W Aa]pÍqLvòRp¨Or]Þÿ V 
krpOÐO.  

d) CRfLÐOosæ

65. oTs]WLvWLw°Rt¨Or]ÞÿOç Cj]ÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.
i. USA nqeZajp]RsÐSkLRs oTs]WLvWLw°¥¨V CtvV IÐ y]ÈLÍU 

(doctrine of waiver) mLiWosæ.
ii. nqeZajpORa oPÐLU nLY¾]¤ y~pU j]¡vÿzekqvOU j]¡vÿzekq  

osæL¾fOoLp oTs]WLvWLw°¥ Aa°]p]q]¨OÐO.
iii. oPÐLU nLY¾]Rs v|vòW¥ kqy×qU Sv¡RÕaO¾OÐvRpsæÐOU yUSpL^]f 

yÒP¡¹fpORa nLYoLReÐOU SojWYLÌ] SWy]¤ yONk}U SWLaf] An]NkLpRÕŸO.
iv. oTs]WLvWLw°tORa y~nLvU SWvsoLeV.
v. B¡Ÿ]¨]¥ 20 DU 21 DU Ku]RWpOç Aa]pÍqLvòL  yop¾V oTs]WLvWLw°¥ 

fL¤¨Ls]WoLp] j]¡¾]vàL¢ CÍ|¢ Nky]c£]jV Ai]WLqoOºV. 
 oOWt]¤ krî NkñLvjWt]¤ JfLeV wq] ?

A) (i, iii, iv) oLNfU  B) (i, ii, v) oLNfU 
C) (ii, iii, v) oLNfU  d) (ii, iv, v) oLNfU 

66. vLhU (a) : nqeZajpORa nLYU-Ill DU IV DU nqeZajpORa ojôLƒ]pLp]  
We¨L¨RÕaOÐO.

  WLqeU (r) : nLYU-IV¤ Aa°]p]q]¨OÐ ff~°¥ iL¡Ú]W NkoLe°tLeV, Av  
nqeZajpORa B¡Ÿ]¨]¥ 37 NkWLqU jaÕ]sL¨L¢ Wu]pOU. 

  wq]pLp D¾q SWLcV f]qRîaO¨OW.
A) (A) pOU (R) DU wq]pLeV, (R), (A) pORa wq]pLp v]wh}WqeoLeV
B) (A) wq]pLeV, kSƒ (R) RfãLeVV
C) (A) RfãLeV, kSƒ (R) wq]pLeV 
d) CRfLÐOosæ

67. vLhU (a) : CT qL^|R¾ ^j°¥ ks fq¾]¤ v|f|ñqLp]qORÐË]sOU, KqO 
RkLfO RRkfQW¾]sOU yUpO© yUØLq¾]sOU kËLt]WtLp] f°Rt¾RÐ 
We¨L¨OÐf]¤ AvRqsæLU An]oLj]¨OÐO.
WLqeU (r) : CÍ|pORa yUpO© yUØLq¾]R£ Aa]òLjU CÍ|p]Rs JãvOU vs]p 
w©]pLp yUØQf nLxpOU yUØLqvOoLeV.

  wq]pLp D¾qSWLcV f]qRîaO¨OW.
A) (A) pOU (R) DU wq]pLeV, (R), (A) pORa wq]pLp v]wh}WqeoLeV
B) (A) wq]pLeV, kSƒ (R) RfãLeV
C) (A) RfãLeV, kSƒ (R) wq]pLeV
d) CRfLÐOosæ
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68. match the following with using correct answer code.

Incorporated Fundamental Propounded in

Rights in Art. 21 

i. Right of elderly persons a. Ashwani Kumar V. Union of India 

ii. Right to publish a book b. meera Santhosh Pal V. Union of India

iii. Right to be forgotten   c. State of maharashtra V. Prabhakar Pandurang

   Sangzgir

iv. Right to abortion   d. Neekunj Todi V. Union of India 

A) i-a, ii-d, iii-c, iv-b   B) i-b, ii-c, iii-d, iv-a 

C) i-a, ii-c, iii-d, iv-b   d) i-b, ii-d, iii-c, iv-a

69. With reference to the principle of Rule of law, consider the following statements :
i. It is the supreme manifestation of human civilization and culture.
ii. It is an animation of the historical law.
iii. It mandates that power must be unaccountable, governance progressively just 

and equal. 
iv. It is based on the principles of freedom, equality, non-discrimination, fraternity, 

accountability and non-arbitrariness.
 Which of the statements given above are correct ?

A) Only (i and ii) B) Only (ii and iii) C) Only (ii and iv) d) Only (i and iv)

70. assertion (a) : droit Administratif does represent principles and rules laid down by 
the French Parliament.

  reason (r) : The principles and rules have been developed by the Judges of the 
Administrative Courts.
Select the correct answer code.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) (A) is true but (R) is false

C) (A) is false but (R) is true

d) None of the above

71. 15 years ago, the mother’s age was twice the daughter’s age. If 3 years from now, the 
sum of their ages will be 99, what is the difference between their present ages ?

A) 19 years B) 21 years C) 23 years d) 25 years

72. In a society with 100 members, each member plays at least one sport amongst cricket, 
hockey and volleyball. If 20 members play cricket only, 30 play hockey only, 25 play 
volleyball only, 12 play both cricket and hockey, 7 play both hockey and volleyball and 
3 members play all the sports, then how many members play at least two sports ?

A) 25 B) 22 C) 32 d) 35
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68. wq]pLp D¾q SWLcV DkSpLY]ÞÿV Cj]ÕrpOÐvpOoLp] RkLqO¾RÕaO¾OW.

B¡Ÿ]¨]¥ 21&¤ D¥RÕaO¾]p]ŸOç                     NkÞq]Õ]ÞÿfV

                            oTs]WLvWLw°¥ 

i. NkLpoLpvqORa AvWLwU a. Aw~j] WOoL¡ V. pPe]p¢ KLlV CÍ|
ii. KqO kOñWU Nky]È}Wq]¨LjOç b. o}qL ySÍLxV kL¤ V. pPe]p¢ KLlV CÍ|

  AvWLwU
iii. or¨RÕaLjOç AvWLwU c. ozLqLNì yUòLjU V. NknLW¡ kL¼OqUYV  

yL‚VyVY]¡

iv. Y¡nM]Nh¾]jOç AvWLwU d. j}WOµV SaLc] V. pPe]p¢ KLlV CÍ| 
A) i-a, ii-d, iii-c, iv-b   B) i-b, ii-c, iii-d, iv-a 
C) i-a, ii-c, iii-d, iv-b   d) i-b, ii-d, iii-c, iv-a

69. j]povLuVÞpORa ff~R¾¨Or]ÞÿV, Cj]ÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.
i. CfV ojOx| jLYq]WfpORapOU yUØLq¾]R£pOU kqSoLÐf NkWajoLeV.
ii. CfV Þq]Nf j]po¾]R£ KqO Bj]SoxjLeV.
iii. Ai]WLqU We¨]sæL¾fOU nqeU NWSoe j}f]pO©vOU fOs|vOoLp]q]¨eRoÐV 

CfV AjOwLy]¨OÐO. 
iv. y~LfNÍ|U, yof~U, v]SvÞjo]sæLpÜ, yLSzLhq|U, D¾qvLh]f~U, JWkƒ]pfp]sæLpÜ  

IÐ} ff~°Rt Aa]òLjoL¨]pOçfLeV CfV.
 oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ?

A) (i DU ii DU) oLNfU B) (ii DU iii DU) oLNfU  C) (ii DU iv DU) oLNfU d) (i DU iv DU) oLNfU

70. vLhU (a) : SNcLp]ãV AcVo]j]SNy›ã]lV IÐfV NlµV kL¡sRo£V j]¡SÇw]Þÿ ff~°RtpOU 
 j]po°RtpOU Nkf]j]i}Wq]¨OÐO.

  WLqeU (r) : ff~°tOU j]po°tOU AcVo]j]SNy›ã}vV SWLaf]Wt]Rs ^cV^]oLqLeV v]Wy]
Õ]RÞÿaO¾fV.

  wq]pLp D¾q SWLcV f]qRîaO¨OW.

A) (A) pOU (R) DU wq]pLeV  (R), (A) pORa wq]pLp v]wh}WqeoLeV

B) (A) wq]pLeV, kSƒ (R) RfãLeV

C) (A) RfãLeV, kSƒ (R) wq]pLeV

d) CRfLÐOosæ

71. 15 v¡xU oOÒV, AÚpORa NkLpU oWtORa NkLp¾]R£ CqŸ]pLp]qOÐO. CSÕL¥ oOf¤ 
  3 v¡xU Wu]îV, AvqORa NkLp°tORa fOW 99 BReË]¤, AvqORa CSÕLuR¾ 

vpôOW¥ fÚ]sOç v|f|LyU IÍLeV ?
A) 19 vpôV B) 21 vpôV C) 23 vpôV d) 25 vpôV

72. 100 AUY°tOç KqO RyLRRyã]p]¤, KLSqL AUYvOU NW]¨ãV, SzL¨], SvLt]SmL¥  
IÐ]vp]¤ WOrîfV KqO WLp]W CjRoË]sOU Wt]¨OÐO. 20 AUY°¥ NW]¨ãV oLNfU  
Wt]¨OÐO. 30 Sk¡ SzL¨] oLNfU Wt]¨OÐO, 25 Sk¡ SvLt]SmL¥ oLNfU Wt]¨OÐO, 
12 Sk¡ NW]¨ãOU SzL¨]pOU Wt]¨OÐO. 7 Sk¡ SzL¨]pOU SvLt]SmLtOU Wt]¨OÐO,
3 AUY°¥ IsæL WLp]W Cj°tOU Wt]̈ OÐORvË]¤, INf AUY°¥ WOrîfV qºV WLp]W 
Cj°RtË]sOU Wt]¨OÐO ?
A) 25 B) 22 C) 32 d) 35
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73. In a certain language, ‘CLASS’ is coded as ‘UUCNE’. What is the code for ‘SECTION’ ?

A) PQKVGEU B) PQlVEGU C) PQVKGEU d) PQKVEGU

74. Suppose A + B means ‘A is the daughter of B’,

A ÷ B means ‘A is the mother of B’,

A × B means ‘A is the son of B’,

A – B means ‘A is the father of B’.

If P + Q – R × S ÷ T, then how is P related to T ?

A) P is the wife of T   B) P is the sister of T 

C) T is the grandmother of P d) T is the mother of P

75. x is a three-digit natural number such that the difference between the number and its 
reverse is 99. Then what is the difference between the digit at the hundred’s place 
and the digit at the unit’s place of x ?
A) 3 B) 0 C) 1 d) 2

76. An athlete running on a track falls short of the finish line by 20 m when she runs at a 
constant speed for a given time. If she increases her speed by 40%, she overshoots 
by 10 m in the same time. What is the length of the track ?

A) 85 m B) 90 m C) 95 m d) 100 m

77. The following Pie chart represents the vehicles used by office goers to reach their office.

   

What is the central angle corresponding to the office goers who use four-wheelers for 
their commute ?

A) 202.5° B) 203° C) 203.5° d) 204°
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73. KqO NkSf|W nLxp]¤ ‘CLASS’ IÐfV ‘UUCNE’ IÐLeV SWLcV RÞpÅ]q]¨OÐfV.   
‘SECTION’ IÐf]R£ SWLcV IÍLeV ?

A) PQKVGEU B) PQlVEGU C) PQVKGEU d) PQKVEGU

74. A + B IÐL¤ ‘A’ B pORa oW¥ IÐOU,

A ÷ B IÐL¤ ‘A’ B pORa AÚ IÐOU,

A × B IÐL¤ ‘A’ B pORa oW¢ IÐOU,

A – B IÐL¤ ‘A’ B pORa k]fLvV IÐOU WqOfOW.
P + Q – R × S ÷ T BReË]¤ P, T pOoLp] I°Rj mÌRÕŸ]q]¨OÐO ?

A) P IÐfV T pORa nLq|pLeV B) P IÐfV T pORa ySzLhq]pLeV 

C) T IÐfV P pORa oO¾ê]pLeV d) T IÐfV P pORa AÚpLeV

75. x IÐfV KqO oPÐV A¨ y~LnLv]W yUX|pLeV, Af]jL¤ B yUX|pOU Af]R£ v]kq}f  
yUX|pOU fÚ]sOç v|f|LyU 99 BeV. ASÕL¥ jPr]R£ òLj¾Oç A¨vOU pPe] 

 ã]R£ x R£ òLj¾Oç A¨vOU fÚ]sOç v|f|LyU IÍLeV ?

A) 3 B) 0 C) 1 d) 2

76. KqO NaL¨]¤ KLaOÐ KqO WLp]WfLqU KqO j]é]f yopU ò]qoLp SvYfp]¤ KLaOSÒL¥ 
l]j]x]UYV RRsj]jV 20 o}ã¡ WOrvV vqOÐO. Av¥ fR£ SvYf 40% v¡È]Õ]ÞÿL¤, ASf 
yopU fRÐ Av¥ 10 o}ã¡ KLv¡SxLŸV RÞáOÐO. NaL¨]R£ j}tU INfpLeV ?

A) 85 o}. B) 90 o}. C) 95 o}. d) 100 o}.

77. fLRu RWLaO¾]q]¨OÐ RRk ÞL¡ŸV KLl}yV pLNf¨L¡ AvqORa KLl}y]¤ I¾L¢   
DkSpLY]¨OÐ vLzj°Rt Nkf]j]i}Wq]¨OÐO.

   

  pLNfàLp] jLsOÞNWvLzj°¥ DkSpLY]¨OÐ KLl}yV ^}vj¨LqORa oi|SWL¦  
IÍLeV ?
A) 202.5° B) 203° C) 203.5° d) 204°



64/25 – M 

a -30- 

78. A hundred participants entered a Spell Bee Contest. Rounds were held with 2 participants 
competing against each other in every round. After each round, the loser of the round 
gets eliminated from the contest and the winner of the round continues in the game. If 
none of the rounds resulted in a tie/draw, how many rounds were played to decide the 
final winner ?
A) 100 B) 101 C) 98 d) 99

79. In the figure given below, AC is the diameter of the circle. If AB = 12 cm and BC = 5 cm, 
find the area of the shaded region.

    
A) 101.73 cm2 B) 102.73 cm2 C) 103.73 cm2 d) 104.73 cm2

80. The negation of the statement “Amit lives in delhi and Aman does not live in mumbai” is

A) Amit lives in delhi and Aman lives in mumbai

B) Amit does not live in delhi and Aman lives in mumbai

C) Amit does not live in delhi or Aman does not live in mumbai

d) Amit does not live in delhi or Aman lives in mumbai

81. The 100th common term between the series 3 + 5 + 7 + 9 + ... and 3 + 6 + 9 + 12 + ... is

A) 595 B) 597 C) 605 d) 607

82. Given that 15th march, 2025 is a Saturday, which date of march, 2050 among the 
following is a Sunday ?

A) 20 B) 21 C) 22 d) 23

83. What is the angle between the hour hand and the minute hand of a clock when the 
clock shows 10 hours 10 minutes ?

A) 240° B) 130° C) 245° d) 120°

84. If the rate of interest is 15%, then what is the difference between compound interest 
and simple interest received on Rs. 10,000 after 3 years from now ?

A) Rs. 295 B) Rs. 300 C) Rs. 305 d) Rs. 310

85. A shopkeeper sold a product at 10% loss. Had his selling price been Rs. 100 more, 
he would have made a profit of 10%. What was the cost price ?

A) Rs. 500 B) Rs. 600 C) Rs. 700 d) Rs. 800
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78. jPrV Sk¡ KqO Ry×¤ m} oÃq¾]¤ kRËaO¾O. KLSqL rTº]sOU 2 Sk¡ kqy×qU 
oÃq]¨OÐ rTºOW¥ jaÐO. KLSqL rTº]jOU SwxU, rTº]Rs SfL¤v] oÃq¾]¤ 
j]ÐV kOr¾LWOWpOU rTº]Rs v]^p] RYp]o]¤ fOaqOWpOU RÞáOU. rTºOWRtLÐOU 
yoj]s/yoj]sp]¤ WsLw]Þÿ]RsæË]¤, AÍ]o v]^p]Rp f}qOoLj]¨L¢ INf rTºOW¥ 
Wt]ÞÿO ?
A) 100 B) 101 C) 98 d) 99

79. fLRupOç Þ]Nf¾]¤, AC IÐfV vQ¾¾]R£ v|LyoLeV. AB = 12 cm DU BC = 5 cm DU 
BReË]¤, SxcOç nLY¾]R£ v]ñ}¡¹U WRº¾OW.

    
A) 101.73 cm2 B) 102.73 cm2 C) 103.73 cm2 d) 104.73 cm2

80. “Ao]fV c¤z]p]sLeV fLoy]¨OÐfV, Ao¢ oOURRmp]¤ fLoy]¨OÐ]sæ” IÐ  
NkñLvjpORa j]SxiU CfLeV :

A) Ao]fV c¤z]p]sLeV fLoy]¨OÐfV, Ao¢ oOURRmp]sLeV fLoy]¨OÐfV

B) Ao]fV c¤z]p]¤ fLoy]¨OÐ]sæ, Ao¢ oOURRmp]sLeV fLoy]¨OÐfV

C) Ao]fV c¤z]p]¤ fLoy]¨OÐ]sæ ARsæË]¤ Ao¢ oOURRmp]¤ fLoy]¨OÐ]sæ

d) Ao]fV c¤z]p]¤ fLoy]¨OÐ]sæ ARsæË]¤ Ao¢ oOURRmp]¤ fLoy]¨OÐO

81. 3 + 5 + 7 + 9 + ... IÐ kqÒqàOU 3 + 6 + 9 + 12 + ... IÐ kqÒqàOU Cap]sOç 
100&LUoR¾ RkLfO khU

A) 595 B) 597 C) 605 d) 607

82. 2025 oL¡ÞÿV 15 wj]pLuVÞ Bpf]jL¤, 2050 oL¡ÞÿV oLy¾]Rs JfV f}pf]pLeV  
ÝLrLuVÞ ? 

A) 20 B) 21 C) 22 d) 23

83. KqO SWæL¨]¤ 10 oe]¨P¡10 o]j]ãV WLe]¨OSÒL¥ oe]¨P¡ yPÞ]pOU o]j]ãV 

 yPÞ]pOU fÚ]sOç SWL¦ INfpLeV ?
A) 240° B) 130° C) 245° d) 120°

84. ks]w j]q¨V 15% BReË]¤, 3 v¡x¾]jOSwxU 10,000 qPkàV sn]¨OÐ yUpO© 
ks]wpOU st]foLp ks]wpOU fÚ]sOç v|f|LyU IÍLeV ?
A) 295 qPk B) 300 qPk C) 305 qPk d) 310 qPk

85. KqO WapOao KqO D¤ÕÐU 10% jì¾]¤ v]ãO. ApLtORa v]¤Õj v]s100 qPk 
WPaOfsLp]qORÐË]¤, ApL¥¨V 10% sLnU sn]¨OoLp]qOÐO. RÞsvV v]s INfpLp]
qOÐO ?
A) 500 qPk B) 600 qPk C) 700 qPk d) 800 qPk
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86. statement : The Earth’s outer core is liquid, while the inner core is solid.
  assertion : The immense pressure at the Earth’s center forces the inner core into a 

solid state despite its high temperature.
Which of the following is correct ?

A) Both the Statement and Assertion are true and the Assertion is the correct 
explanation of the Statement

B) Both the Statement and Assertion are true, but the Assertion is not the correct 
explanation of the Statement

C) The Statement is true, but the Assertion is false

d) The Statement is false, but the Assertion is true

87. Which of the following statements are correct in relation to the rotational characteristics 
of planets in our solar system ?

i. With the exception of Venus and mars, all the planets rotate in the same clockwise 
direction.

ii. With the exception of Uranus and Neptune, all the planets rotate in the same counter 
clockwise direction.

iii. With the exception of Venus and Uranus, all the planets rotate in the same counter 
clockwise direction. 

iv. All the planet’s orbits lie close to the same plane (the plane of the ecliptic) passing 
through the Sun’s equator.

A) Only (i and ii) B) Only (i and iii) C) Only (ii and iv) d) Only (iii and iv)

88. Arrange the following atmospheric components in order from most abundant to least 
abundant.

1. Argon 2. Nitrogen 3. Carbon dioxide 4. Oxygen

A) 2, 4, 1, 3 B) 4, 2, 1, 3 C) 2, 1, 4, 3 d) 2, 3, 4, 1

89. match the term with its description regarding air mass stability.

Term Description 

i. Stable air mass a. Air that resists vertical motion, leading to layered  
clouds and smooth air

ii. Unstable air mass b. Air that promotes vertical motion, leading to  
thunderstorms and turbulent air

iii. Conditional instability c. Air that is stable for unsaturated air, but  
becomes unstable when saturated

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-c, ii-a, iii-b d) i-a, ii-c, iii-b
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86. NkñLvj : nPo]pORa kOrU WLÒV NhLvWoLeV, ASf yopU AWWLÒV XqoLeV.
  WLqeU : nPo]pORa SWNÎ¾]Rs AkLqoLp o¡ÇU Dp¡Ð fLkj]s DºLp]qOÐ]ŸOU 

AW¨LÒ]Rj XqLvòp]Ss¨V fç]v]aOÐO.
  fLRuÕrpOÐvp]¤ JfLeV wq] ?

A) NkñLvjpOU WLqevOU wq]pLeV, WLqeU NkñLvjpORa wq]pLp v]wh}WqeoLeV

B) NkñLvjpOU WLqevOU wq]pLeV, kSƒ WLqeU NkñLvjpORa wq]pLp  
v]wh}Wqeosæ

C) NkñLvj wq]pLeV, kSƒ WLqeU RfãLeV

d) NkñLvj RfãLeV, kSƒ WLqeU wq]pLeV

87. jÚORa yTqpPg¾]Rs NYz°tORa Nnoe y~nLvyv]SwxfWtOoLp] mÌRÕŸV 
fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. wONWjOU RÞLvÿpOU Ku]RW, IsæL NYz°tOU KSq SWæL¨V RRvy]sOç h]wp]sLeV  
Wr°OÐfV.

ii. pOrLjyOU RjkVã|PeOU  Ku]RW, IsæL NYz°tOU KSq If]¡ SWæL¨V RRvy]sOç  
 h]wp]sLeV Wr°OÐfV.

iii. wONWjOU pOrLjyOU Ku]RW, IsæL NYz°tOU KSq If]¡ SWæL¨V RRvy]sOç h]wp] 
sLeV Wr°OÐfV. 

iv. IsæL NYz°tORapOU Nnoekg°¥ yPq|R£ oi|SqXp]sPRa WaÐO SkLWOÐ KSq 
fs¾]jV (NWLÍ] vQ¾¾]R£ fsU) AaO¾LeV ò]f]RÞáOÐfV.

A) (i DU ii) oLNfU B) (i DU iii) oLNfU C) (ii DU iv) oLNfU d) (iii DU iv) oLNfU

88. AÍq}ƒ¾]Rs Cj]ÕrpOÐ ZaW°Rt JãvOU yoQÈoLpf]¤ j]ÐV JãvOU 
WOrî yoQÈ]p]Ss¨Oç NWo¾]¤ NWo}Wq]¨OW.

1. B¡SYL¦   2. RRjNa^¢ 

3. WL¡m¦ RRc KLWVRRycV 4. KLWõ]^¢

A) 2, 4, 1, 3 B) 4, 2, 1, 3 C) 2, 1, 4, 3 d) 2, 3, 4, 1

89. vLpO k]¼ ò]qfRp¨Or]ÞÿOç Af]R£ v]vqevOoLp] khU  
RkLqO¾RÕaO¾OW.

         khU                 v]vqeU 

i. ò]qfpOç vLpOk]¼U a. sUm ÞsjR¾ Nkf]SqLi]¨OÐ vLpO, kLt] 
  WtLp SoZ°t]Ss¨OU o]jOyoL¡Ð vLpOv] 
  Ss¨OU jp]¨OÐO    

ii. Aò]qoLp vLpOk]¼U b. Ca]o]Ðs]Ss¨OU NkxOmVioLp vLpOv]Ss¨OU  
  jp]¨OÐ sUm ÞsjR¾ SNkLÃLz]Õ]¨OÐ  
  vLpO

iii. SyLkLi]W Aò]qf  c. AkPq]f vLpOv]jV ò]qfpOçfOU IÐL¤ 
    kPq]f oLWOSÒL¥ Aò]qoLWOÐfOoLp vLpO  

     
A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-c, ii-a, iii-b d) i-a, ii-c, iii-b



64/25 – M 

a -34- 

90. Arrange the following steps in the process of coral bleaching.

1. Corals expel their symbiotic algae.

2. Increased water temperature.

3. Corals loose their colour and become stressed. 

4. Reduced photosynthetic activity.

A) 2, 4, 1, 3 B) 1, 3, 2, 4 C) 2, 1, 4, 3 d) 4, 2, 3, 1

91. assertion (a) : Epeirogenic movements result in the formation of deep ocean 
trenches.

  reason (r) : Epeirogenesis involves localized, intense folding and faulting of rock 
layers.

Which of the following is correct ?

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

C) (A) is true but (R) is false

d) (A) is false but (R) is true

92. match the volcanic component with the function.

Component Function 

i. magma chamber   a. Pathway for magma to rise

ii. Conduit   b. Storage of molten rock beneath the surface

iii. Vent   c. Opening through which volcanic gases and  
   materials escape 

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-b, ii-c, iii-a d) i-a, ii-c, iii-b

93. Around a low pressure center in the Northern Hemisphere, surface winds

A) circulate clockwise and diverge

B) circulate counter clockwise and converge

C) circulate clockwise and converge 

d) circulate counter clockwise and diverge

94. Which characteristic of an underwater earthquake is most likely to generate a Tsunami ?

A) Its magnitude on the Richter scale

B) Its depth and vertical displacement of the sea floor

C) Its distance from the nearest landmass 

d) Its duration
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90. kv]uÕOãOWtORa mæ}Þÿ]UYV NkNW]pp]¤ fLRu krpOÐ ZŸ°¥ NWo}Wq]¨OW.

1. kv]uÕOãOW¥ AvpORa yz^}v] B¤YWRt kOrÍçOÐO.

2. ^s¾]R£ fLkj]s v¡È]¨OÐO.

3. kv]uÕOãOW¥¨V j]rU jìRÕaOWpOU yÚ¡ÇU AjOnvRÕaOWpOU RÞáOÐO. 

4. NkWLwyUSwæxe Nkv¡¾jU WOrpOÐO.

A) 2, 4, 1, 3 B) 1, 3, 2, 4 C) 2, 1, 4, 3 d) 4, 2, 3, 1

91. vLhU (a) : Bu¨a¤ W]a°OWtORa qPk}Wqe¾]jV IRRÕSrLR^j]WV Þsj°¥  
WLqeoLWOÐO.

  WLqeU (r) : IRRÕSrLR^j]y]y]¤ kLr kLt]W¥¨V NkLShw]W v¤¨q]àOWpOU, 
 f}NvvOoLp oa¨OWtOU v]çsOWtOU D¥RÕaO¾OÐO.

 fLRu krpOÐvp]¤ JfLeV wq] ?

A) (A) pOU (R) DU wq]pLeV, (R) BeV (A) pORa wq]pLp v]wh}WqeU

B) (A) pOU (R) DU wq]pLeV, kSƒ (R), (A) pORa wq]pLp v]wh}WqeU Asæ

C) (A) wq]pLeV, kSƒ (R) RfãLeV

d) (A) RfãLeV, kSƒ (R) wq]pLeV

92. A®]k¡vÿf ZaWR¾ Nkv¡¾jvOoLp] RkLqO¾RÕaO¾OW.

ZaWU        Nkv¡¾jU 

i. oL¯ SÞÒ¡  a. oL¯ DpqOÐf]jOç kLf

ii. WOu¤  b. Dkq]fs¾]ja]p]¤ DqOW]p kLrpORa yUnqeU

iii. Rv£V  c. A®]k¡vÿf vLfW°tOU vñO¨tOU kOrS¾ V̈  
   SkLWOÐ h~LqU 

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-b, ii-c, iii-a d) i-a, ii-c, iii-b

93. va¨¢ A¡ÈSYLt¾]Rs KqO fLuVÐ o¡Ç SWNÎ¾]jV ÞOãOU, Dkq]fs WLãV

A) Za]WLq h]wp]¤ yµq]¨OWpOU v|f]Þs]¨OWpOU RÞáOÐO

B) If]¡ Za]WLq h]wp]¤ yµq]¨OWpOU K¾OSÞqOWpOU RÞáOÐO.

C) Za]WLq h]wp]¤ yµq]¨OWpOU K¾OSÞqOWpOU RÞáOÐO 

d) If]¡ Za]WLq h]wp]¤ yµq]¨OWpOU v|f]Þs]¨OWpOU RÞáOÐO

94. Rvç¾]ja]p]sOç nPWÒ¾]R£ JfV y~nLvoLeV yOjLo]¨V WLqeoLWOÐfV ?

A) r]W›¡ RØp]s]¤ Af]R£ f}Nvf

B) yoONh¾]R£ Aa]¾Ÿ]R£ BuvOU sUm òLj ÞsjvOU

C) JãvOU AaO¾Oç Wqp]¤ j]ÐOç hPqU 

d) Af]R£ RRh¡Z|U



64/25 – M 

a -36- 

95. Which of the following statements accurately describes a debris flow ?
A) It is a slow, gradual movement of soil
B) It involves the free fall of rock or debris
C) It is a rapid, fluid like movement of a mixture of water, rock, soil and organic debris
d) It is characterized by the movement of dry unconsolidated material

96. Which of the following physical features that are developed in the upper or mountain course 
of a river ?
A) meanders and River Cliff 
B) V-shaped Valley and Gorges
C) U-shaped Valley and Potholes 
d) Flood Plain and Oxbow lake

97. Which of the following is not a cause of cultural lag ?
A) Swift advancement of technology 
B) Absence of legislative changes
C) Slow cultural and social adjustment 
d) Increased education and awareness

98. match list – 1 with list – 2 and select the correct answer from the codes given below.
List – 1 List – 2
(tribes) (states) 

a. Soligas   i. Kerala
b. Kolis   ii. madhya Pradesh
c. Kurumbas   iii. Karnataka 
d. Baigas   iv. maharashtra 
codes :

a b c d
A) iii iv i ii  
B) i  ii iii iv
C) ii iv i iii 
d) ii iii iv i

99. The term “troposphere temperature fall” refers to
A) Thermal loss B) Adiabatic rate
C) laps rate d) Temperature drops

100. The planetary winds that move between the equatorial lowlands and the subtropical 
highlands, is known as
A) Westerlies B) Polar easterlies
C) monsoon winds d) Trade winds
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95. fLRu krpOÐ NkñLvjWt]¤ JfLeV Avw]ì NkvLzR¾ WQf|oLp] v]vq]¨OÐfV ?
A) o¹]R£ yLviLj¾]sOç, NWoLjOYfoLp ÞsjoLe]fV
B) kLrpORaSpL Avw]ì°tORaSpL y~fNÍoLp v}uVÞ Cf]¤ D¥RÕaOÐO

C) RvçU, kLr, o¹V, RR^v Avw]ì°¥ IÐ]vpORa o]è]f¾]R£ NhOfvOU   
NhLvWvOoLp ÞsjU SkLRspLe]fV

d) De°]p JW}Wq]¨L¾ vñO¨tORa ÞsjoLeV Cf]R£ yv]Swxf

96. fLRu krpOÐvp]¤ JfLeV KqO jh]pORa oOW¥ nLYS¾L k¡vÿf j]qp]SsL v]Wy]Õ] 
RÞÿaO¾ nTf]W yv]SwxfW¥ ?
A) o}¢ScuVyOU jh}f}qvOU 
B) V-BWQf]p]sOç fLuVvqpOU SYL¡^OWtOU
C) U-BWQf]p]sOç fLuVvqpOU WOu]WtOU 
d) RvçRÕL¨ yofsvOU KLWVyVSmL faLWvOU

97. fLRu krpOÐvp]¤ JfLeV yLUØLq]W k]SÐL¨LvòàV WLqeoLWL¾fV ?
A) yLSËf]W v]h|pORa NhOfYf]p]sOç kOSqLYf]  
B) j]poj]¡ÚLe oLã°tORa AnLvU
C) oÎYf]p]sOç yLUØLq]WvOU yLoPz]WvOoLp NWo}WqeU 
d) v¡È]Þÿ v]h|Ln|LyvOU AvSmLivOU

98. s]ðV-1 Rj s]ðV-2 oLp] SpL^]Õ]ÞÿV fLRu RWLaO¾]q]¨OÐ SWLcOWt]¤ j]ÐV wq]pLp  
D¾qU f]qRîaO¨OW.

     s]ðV-1    s]ðV-2
(SYLNf°¥) (yUòLj°¥) 

a. SyLt]YW¥  i. SWqtU
b. SWLt]yV  ii. oi|NkShwV
c. WOrOÒW¥  iii. W¡eLaW
d. RRmYLyV  iv. ozLqLNì 
codes :

a b c d
A) iii iv i ii  
B) i  ii iii iv
C) ii iv i iii 
d) ii iii iv i

99. ""SNaLSÕLó]p¡ fLkj]sp]Rs WOrvV '' IÐ khU Cj]ÕrpOÐvRp yPÞ]Õ]¨OÐO.
A) fLkjìU B) Ac]pmLã]WV j]q¨V
C) sLkVyV j]q¨V d) fLkj]sp]Rs WOrvV

100. nPoi|SqXL fLuVÐ NkShw°¥¨OU DkDxVeSoXsL Dp¡Ð NkShw°¥¨OU Cap]¤ 
yµq]¨OÐ NYzvLfW°Rt Ar]pRÕaOÐfV 
A) ka]îLr¢ SoXs B) NiOv W]u¨¢ SoXs
C) o¦yP¦ WLãOW¥ d) v|LkLq WLãOW¥
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Space for rough work
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

a

         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 100 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (a), (B), (c), (d) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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